[ZE+EFOZD=,

EE+REOZ=DOM]

EXREEYVLERSRMESEELGE (SRR 0H)]

WRHME : SM3FE2A1H~9f3E2H28H

HOUTHEEREDORBERUVHE B+-50t0= N 1. B+-£0+t0E + 1]

BB : FM3EI[A24R

(FHM3FE2AE)

KEBREDOEBKREEBE (A 1E) B+-£0t0= )\ —RUK., B+-£0t0EHE + —RUK]

B R (B R K WK
137.74 (t/8) EREXIE A £ R T BiRE v ~

G S R 6.08 (t/B) | |2»ELHEEBZELCLE

Ly S (t/R)...] |RBEEDAR

L1 S (t/R).__]

A S (t/R)..]

EXREEVELDTAOISLBLELO | ... 3851  (t/A) |

Ot RERESW L N %A S 6. 74 - DI

Tt EERESW ) R < L S 6. 4 - DI

T DM ( ) (t/8) HBEDRE B+£0+t0= N O, N A, FRUF, B+H=£0t0FE £ O, /N, A, FRUF]

HEEE WKk T PR pedas g QIR LR PhEEE

BRABZE EEXER) B+-£0tn= N Y. #+-£0t0FE £t Y] mEE | RHSF2A158 | HM3E2A 158 FHMF2R 158 HF03F28 158 [HF34F2H158,
AEFAB . LT RROFM® | Rl [ BRaL | . gEREL RERGL | BREeL
RIEER WEGEE

FHELCI-E
KEREOEMKRLEBE1EH) H+-&0tD= /N ZRUK. B+-£0tDE £t —RUK] AB&EEFD

# Tk WK RE X

BEBE .
REUBRT ..
BREGRIFONIH
BRERE ...
BREMER .
E L. T e BN U DR
WELREBEEBELE
BB EZFDAR
X1 BERPBOHONBEOHARATEIE, X2 WTFhhER#TsE., X3 BEXKENEHAIAERAKEICHHT 2ERIZE5, X4 MREOFERICFEIEEHATTSLI L,



[E%+EEO=O=,

EZETRAZEOZOM]

EXREZEMLERSRMESEERRE (SER Q)]

R SM3E281B~4M3FE2AHA28H

EOHUTE-EERZVORERUHME B+=20t0= N 1. B+=£0+t0E £ 1]

e B :
(RM3FE2HE)

TMIFIF248

KEREOEMKRELEBE B 1H) B+=£0t0= /\ —RUK. B+-£0t0FE £ —RUK]

b g HE (BAL) #h R 7k TRk
AR e a4 (t/B)._ | |BRBusAR £ & T & BREY bk
N (t/R).__]
BIIATIOI e 2398 (t/A). ]
2 R N 1.63 . (t/RH).._]
e e 286 (£ /R) ]
L1 O R S .76 . (t/RA).__]
LA 2 = (t/R)._..]
e O S S (t/R)._.]
-4 A (t/R)..]
AZALT L A2 ) hSTRUMBES T .. 1404 (t/A) |
g (t/R)..]
N e 2433 (t/R) | |EnHEE#ECEE
L S (t/R)._.| |RBEEETOREx
Lok S (t/R)..]
N S (t/R)..]
EXBEEVNELNTRI-OISBBLELD. | (t/R)..]
Ot (REREEW L S -1 2 N 6L 4 - D
ot (EEREESY . L U 1< 0 L . 274 = DI
Z0lth (REHRE ) (t/8) MERDRE B+-£0t0= N O, N A, bRUF. B+H-£0t0E £ O, /N, A, FRUF]

mRE KT Rt B RN fhEiaE

BASE EEXARS HB+H-£0t0= N Y. #+-£0t0DE + Y] SRE | FH3F2A228 | RM3F2A228 | SHIF2A228 | FHIF2A228 | AMI3FE2A228
MEEAB ... RROBR | BRaL | BReL [ N R gEREL | RBREL
BIERR WEGRE

FHLI-E
KEBREOEBRRLEE (E1E) HB+-£0t0= /N ZRUK, H+=£0Lt0E £t =RUK] AREED

#h Tk MUK Rz X

230 = I
REUEAT ..
REERNGONEE
RERE ... —
RESR
RROER e e e
BESHEEREMCIE
AREHEZEDRE
X1 BEPBOOLNEBEEOARATEIE, X2 WThHZEE#BTIE, X3 BERKENEHIALFAKESIZHHT 3BRIZES., X4 WSSO FERICHEFEHATTS L,



